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&t 2597.4] 209.5 4296 345 6] 17 12 8 12 26 46 3
WoKIE EM/NEIECR 3R (HRRIEMIXG/8)
- B (kg) T (kg) 90'L 5% (kg) 45°L 7% (kg) Y% (kg) Mo hke) | AVEE ke) -3 #(ke)
o | A [o60] 75 690] 060] 075] 690 ¢60] 675] 090 960] 6 75] ¢90] 660] 075 ¢ 90] 660] ¢75] 690w rlerxer] 660] ¢75] 690 A3
3.0kg/A<| 4.0kg/ A 5.5kg/A| 1.8kg/A| 2.5kg/ 4| 3.0kg/ A< 1.3kg/A| 1.8kg/ A< 2.5kg/ A | 1.2kg/A| 1.7kg/ A 2.2ke/ 4| 2.0kg/ A< 2.9ke/A| 3.8keg/ A< 0.9kg/ A | 1.2kg/A<| 1.6kg/ 4| 0.9kg/ 4| 1.0kg/ A< 0.2ke/ 42| 0.3kg/ x| 0.4kg/ Kz
4 |EKIEA  [i1e3a0[844.0] 0.0l 0.0l 0.0 0.0l 0.0 0.0l 0.0 6.0] 0.0] 00 00 00l 00l 00f 0.0] 00| 00 00 92 09 00 12.5
124 | KIER  |1254.00536.0]  0.0] 10.8] 42.5| 0.0 15.6] 0.0l 0.0 3.6 0.0l 0.0l 0.0 00| 0.0[ 0.0 144] 0.0] 23.4] 0.0 00| 00[ 0.0 1.9
&t 12888.011380.0) 0.0 10.8] 42.5[ 0.0] 15.6] 0.0] 0.0] 9.6/ 0.0 0.0f 0.0 0.0] 0.0l 0.0 144 0.0[ 23.4[ 0.0 9.2 09] 0.0 14.4




WoKIE £ THCEAERRR (W IERSHRX5/8)

E ) n Feb | D | R | g | | BE | gz
el 5 THESR: (m) gz | RIE | BH | HEIE " RL
& ¢ 60 ¢ 75 ¢ 90 (m3) (m3) (m2) (m3) (m3) (m3) (m3)
a7 | mkiEA | 718 wiso- | 43| 113 251 88| 25 43.1] 88
. FE
wokEB | 10.8 H10% 65 19| 38| 15 04| 65 15
48 | mAiEA | 564 wiso- | 338 89l 197 69| 20| 338 6.9
. FE
WK IER 5.2 H10% 31l o9l 18] 07l 02 31| o7
49 | mAEA
Ll FHET
K IEB
50 . 37.2 wiso- | 223| 56| 130/ 43| 13| 223 43
LESIN oo
127.0 76.2| 192 445 144| 44| 762 147
BAKIEE 0.0l 00l 00| 00l 00l 00| 0.0
30.0 180 47| 105 36| 1.1 180 37
51 | mAkoEa | 113 WL50- 68 18] 40| 14 04| 68| 14
. FE
WK IER 0.0 H10% 0.0l 0ol 00| 00l 00l 00| 00
52 | mAkiEA | 183.7 widao- | 1102| 226| 643 158 64| 1102] 162
7l
KRR |25:5 H10% 153 36 89l 27 09| 153 27
12.8 77l 18l as| 13|l 04l 7] 13
54 | mAiEA | 136.6 wis0- | 820l 239 47.8] 193] 48| 820 191
) )
WoAEB | 21.0 H20%: 12.6] 44| 74| 371 07| 126] 37
55 | mAiEA | 199.6 wis0- | 119.8] 349 69.9] 28.1| 70| 1198] 27.9
) )
WoAEB | 19.8 H20%: 11.9] 42| 69| 35 o7 119 35
56 | mkiEA | 201.2 wis0- | 120.7] 352 704 284| 70| 1207] 282
- 78]
WoAEB | 16.6 H20%: 1000 35 58] 30/ 06| 100/ 209
57 | mkiEA | 269.8 wis0- | 161.9] 472 944 380 94| 161.9] 37.8
) )
WoAEB | 27.5 H20%: 165 58 96| 49 10| 165 48
58 | mkiEA | 199.3 wLs0- | 119.6] 349 69.8] 28.1| 70| 1196] 27.9
14.7 H20% 88| 31| 51| 26| 05| 88l 26
w7ki%B . . . . . . . .
14.7 88l 31| 51| 26| 05| 88 26
64 | mAiEA | 173.7 wiso- | 104.2] 304] 608 245 61| 1042] 243
16.0 H20% 96| 34| 56| 28 06| 96| 23
w7k;%B . . . . . . . .
11.6 70 24 41| 20l 04| 70| 20
65 | mkiEA | 121.9 wiso- | 73] 213 427 a7l 43| 73] 17a
- 78]
WoAEB | 117 H20%: 7ol 25| 41|l 21 o4l 70| 20
66 &7J<%.<A v }_
K IEB
67 | mkiEA | 123.2 wiso- | 73.9] 216 43| 174| 43| 739 172
) )
WoAGEB | 11.2 H20%: 6.7l 24| 39 20 04l 67 20
68 | mkiEA | 1825 wLs0- | 109.5] 319 63.9] 2571 6.4] 100.5] 25.6
13.4 H20% sol 28] 47l 24| 05| 80l 23
w7ki%B . . . . . . . .
13.4 sol 28] 47l 24 05| 80 23
69 | mAiEA | 1217 wiso- | 730|213 426 172 43| 73.0] 17.0
. FE
wokER | 124 H20% 74| 26| 43| 22 04| 74| 22
70 | mAEA | 744 wiso- | 44.6] 13.0] 260 105| 26| 446 104
. FE
WokER | 26.0 H20% 156 55 91 46| 09| 156 46
119 | WKIEA | 374 wiso- | 224 59l 131 46| 13 224 4
. FE
wokER | 13.2 H10% 79 23] 46| 19| o5 79| 138
120 | WKIEA | 136.0 wiso- | s16| 238 476 19.2] 48| s16] 19.0
. FE
WokER | 14.7 H20% 88l 31| 51| 26| 05| s8] 26
| | m @ @3 @2 @3] @3] @3] w3
204z |2597.4] 209.5 1683.9| 481.5| 982.3| 384.9| 9s.4|1683.9] 383.0




KD TR E KRR
HEOBE | e BT | wE M| W US| REOBE | mE BT wE | W
X% = BEARIX | BEARE | AR | BORRIX | BEAREA | BEARIX | BRI | AR i & Bt fi5 %
) ®) (3) 4) (5) (6) (M 8)
£l vu | o715 77.7 m 77.7
K
VE
o~ VP 675 5.0 m 5.0
=4
#
IKEKF| ¢ 75 19 & 19
7K
TR
KR | 3007 19 & 19
5 S -
frfi 0.08 m3 0.08
Eil
75y 7 | $75 19 1# 19
=P
6 100 1
EHHE 48.1 m3 48.1
#iH] BH 15.0 m3 15.0
+ | JEmeE 29.5 m2 29.5
M5 14.4 m3 14.4
£EHEREL 48.1 m3 48.1
T+ 0.1 m3 0.1
L=l 3.0 m 3.0
EE 2.1 m2 2.1
”
EE] 2.1 m2 2.1
g 2.1 m2 2.1
T B A 2.1 m2 2.1
=X
AsERALSY 0.1 m3 0.1
WAL 5y 0.4 m3 0.4
Hll£L 19 fL 19




KEY AR R
IR AR (5/8)

135 LRI EH (m) DV#EF: ¢ 75 | LB gk VNEES 75T =k
VU VP TR | R | R @ mmsoon] wem @|

B 7075 [0100] 075 | o100] 90 | 45 m| ¢75 | ¢100 @ 3| 675 | ¢ 100

47 3.6 3.6 1 1] 0.004 1

48 2.3 5.0 7.3 1 1] 0.004 1

49 A T
50 4.0 4.0 1 1] 0.004 1

51 2.6 2.6 1 1] 0.004 1

52 3.6 3.6 1 1] 0.004 1

54 4.6 4.6 1 1] 0.004 1

55 4.2 4.2 1 1] 0.004 1

56 1.1 4.1 1 1] 0.004 1

4.5+4.3

57 8.8 8.8 2 2| 0.008 2

58 5.2 5.2 1 1| 0.004 1

64 4.0 4.0 1 1| 0.004 1

65 4.8 4.8 1 1| 0.004 1

66 it L
67 4.6 4.6 1 1] 0.004 1

68 4.5 4.5 1 1| 0.004 1

69 4.8 4.8 1 1| 0.004 1

70 4.4 4.4 1 1| 0.004 1

119 | 3.3 3.3 1 1] 0.004 1

120 | 4.3 4.3 1 1] 0.004 1

- ) I I Y I o] I (2] () €y I ) ) ) ) ) )

H 77.7 5.0 82.71 19 19| 0.076 | 19




KRRy TE R GR

U AR IXN (5/8)

B2 +rErERE | TRy | £ | EE | B | s | BL | s | SiE | s % FE | TE | Asi | e | BETHL
TR (m) | #E | BH | EiE RL BT | kA AR | B | Sy | Ay | ¢ 150 fii %
kel 675 | 990 | B | i E @) @ @ @) @ @ | @ @ @ @ @] @ @
47 | WL50- 3.6 35 T 36] 22| 06| 1.3 05| 22| 00 — — — — — — —
H10%! EH T 0.0 1.0
48 | WL50- 73 35 F 13 26| 0.7] 15| 06| 26| 0.0 — — — — — — —
H10%! W T 3.0 — 06| 1.5 06 — 0.0 3.0 21 21 2.1 2.1 0.1]  0.4] 10| #EEaEEE I aEE=3.0m
49
A6 T
50 | WL50- 1.0 B 10| 24| 06| 14| 05| 24| 0.0 — — — — — — —
HO5%! EH T 0.0 1.0
51 | WL50- 2.6 3% F 26| 1.6/ 04| 09| 04| 1.6 0.0 — — — — — — —
H10%! EH T 0.0 1.0
52 | WLAO- 3.6 39 F 36] 22| 04| 1.3 04| 22| 00 — — — — — — —
H10%! EH T 0.0 1.0
54 | WL50- 16 3% F 16| 28] 09] 16| 09 28 0.0 — — — — — — —
H20%! EH T 0.0 1.0
55 | WL50- 1.0 39 F 12| 25 08| 15| 08 25| 0.0 — — — — — — —
H20%! EH T 0.0 1.0
56 | WL50- 11 35 F 11| 25| 08| 14| 08 25| 0.0 — — — — — — —
H20%! EH T 0.0 1.0
57 | WL50- 8.8 35 F 8.8 53] 1.7 3.1] 1.6] 53] 0.1 — — — — — — —
H20%! EH T 0.0 2.0
58 | WL50- 5.0 3% F 52 3.1 10| 1.8 1.0 3.1] 00 — — — — — — —
H20%! EH T 0.0 1.0
64 | WL50- 1.0 39 F 10| 24| 08| 14| 07| 24| 0.0 — — — — — — —
H20%! EH T 0.0 1.0
65 | WL50- 1.8 39 F 18] 29 09 1.7 09 29 00 — — — — — — —
H20%! EH T 0.0 1.0
66
A T
67 | WL50- 16 B 16| 28] 09] 16| 09 28 0.0 — — — — — — —
H20%! EH T 0.0 1.0
68 | WL50- 45 35 F 15 27 09| 16| 08 27 0.0 — — — — — — —
H20%! EH T 0.0 1.0
69 | WL50- 1.8 35 F 18] 29 09 1.7 09 29 00 — — — — — — —
H20%! EH T 0.0 1.0
70 | WL50- 1.4 3% F 14| 26| 08| 15| 08 26| 0.0 — — — — — — —
H20%! EH T 0.0 1.0
119 | WL50- 3.3 3% F 33 20| 05| 1.2] 05| 20| 00 — — — — — — —
H10%! EH T 0.0 1.0
120 | WL50- 1.3 3% F 13| 26| 08| 15| 08 26| 0.0 — — — — — — —
H20%! EH T 0.0 1.0
(m) (m) (m) (m3) (m3) (m2) (m3) (m3) (m3) (m) (m2) (m2) (m2) (m2) (m3) (m3) (4L)
204 3 82.7 82.7| 48.1| 15.0] 295 14.4| 48| o1l 30| 21| 21| 21 21| o1] 04| 190




BB

FEARIX B35S B A (m2) %
AR ESZES Bkl i E (n2) ik
47 700
48 330
49 AN T
50 1,730
51 100
52 2,180
54 1,220
55 1,690
56 1,480
- 57 3,230
58 2,360
64 2,000
65 990
66 At T
67 1,010
68 2,040
69 1,090
70 860
119 400
120 1,350
o m2 24,760
ha 2.48




it TR I 8 5

R TR
3% | OmfE(m2) | @8 (m) | OXO 4 {5
47 700 20 14,000
48 330 9 2,970
50 1,730 34 58,820
51 100 7 700
52 2,180 42 91,560
54 1,220 37 45,140
55 1,690 24 40,560
56 1,480 20 29,600
57 3,230 45 145,350
58 2,360 33 77,880
64 2,000 37 74,000
65 990 16 15,840
67 1,010 15 15,150
68 2,040 31 63,240
69 1,090 16 17,440
70 860 29 24,940
119 400 17 6,800
120 1,350 18 24,300
[18 %] 24,760 450 748,290
Fal= 748,290 + 24,760
= 30
(P s + B330)
Fil= 1,376 + 30
= 46
30
46
m
BEXOELL R 30 m
HXORNE 46 m




RiREM—ER

ITE4 R6{EH MAHE HE BEHK2IE(FEVFERKRDR)
e pSokvy ==X =21 ii] e
MLLUFIE, BIR2 A MIEEL CaF EL TV A 448
DAEFHE(LDOHY) B BEEL TURLIEHDT
kP
[EREARE: -y 418 8RR A 1E = 236,000




